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Guess Paper – 2010
Class –X
Subject – Maths
Time: 3 hrs                                                                                      Maximum Marks: 80

General Instructions:

(i) All questions are compulsory.

(ii) The question paper consists of 30 questions divided into four sections – A, B,C and D. 
Section A contains 10 questions of 1 marks each. Section B contains 5 questions of 2 marks each. Section C contains 10 questions of 3 marks each and Section D contains 5 questions of 6 marks each.

(iii) Use of calculators is not permitted.

SECTION – A

Q.1
If x (x≠0) is a rational number and y is irrational number, then what can you say about x + y.

Q.2
Write the zeroes of the polynomial px2 + qx + r.    
Q.3
Find the value of p for which the quadratic equation has real roots 2x2 + px + 8 = 0

Q.4
Write the common difference of an A.P. whose nth term is 7 – 3n.

Q.5
If 
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, then find the value of .

Q.6
What is the length of a  rope by which a cow must be tethered in order that it may be able to graze an area of 616 m2? 
Q.7
Why tossing a coin is a fair way of deciding which team should get the batting first at the beginning of a cricket game.

Q.8
Find the median of first ten prime numbers.
Q.9
In ∆ ABC, DE is parallel to BC and AD = 1 cm, BD = 2 cm. What is the ratio of the area of ∆ABC to the area of ∆ADE?  

Q.10
If PA and PB are two tangents from external point P to a circle with centre Oand angle OAB = 35o find the measure of angle APB.
SECTION – B

Q.11
If one zero of polynomial p(x) = (k2 + 4)x2 + 13x + 4k is reciprocal of other then find value of k.
Q.12
In the figure, ABCD is a rhombus whose diagonal AC makes an angle α with AB. If cosα = 3/5 and OB = 4 cm, then find the side and the diagonals of the rhombus.  [image: image3.png]








OR


Evaluate  
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Q.13
The vertices of triangle are (1,k), (4,-3) and (-9,7). If the area of the triangle is 15 sq. units, then find the values of k.
Q.14
A game consists of tossing a one-rupee coin 3 times and noting its outcome each time. Hanif wins if all the tosses give the same result i.e. three heads or three tails, and loses otherwise. Calculate the probability that  Hanif will lose the game.
Q.15
If one diagonal of a trapezium divides the other diagonal in the ratio 1:2, prove that one of the parallel sides is double the other.
SECTION – C

Q.16
Show that any positive odd integer is of the form 6q + 1 or 6q + 3 or 6q + 5, where q is some integer. 
Q.17
If the polynomial x4 – 6x3 + 16x2 – 25x +10 is divided by another polynomial x2 – 2x + k, the remainder comes out to be x + a, find k and a. 
Q.18
A person invested some amount at the rate of 12% simple interest and a certain amount at the rate of 10% simple interest. He received yearly interest of Rs. 130. But if he had interchanged the amounts invested, he would have received Rs.4 more as interest. How much amount did he invest at different rates?






OR


Solve:  
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 Q.19
Find the middle term of A.P. 10, 7, 4, ……,(-62).  

                                                                             OR

The digits of a positive integer having three digits are in A.P. and their sum is 15. The number obtained by reversing the digits is 594 less than the original number. Find the number.

Q.20
Prove that 
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OR

Prove 
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Q.21
The points P, Q, R and S in that order are dividing a line segment joining A(2,6) and B(7,-4) in five equal parts. Find the coordinates of P and R.
Q.22
Find the vertices of the triangle if (5,7), (2,3) & (9,4)   are the mid- point of the sides of the triangle. Also show that it the right angled triangle.
Q.23
Sides AB and AC and median AD of a triangle ABC are respectively proportional to sides PQ and PR and median PM of another triangle PQR. Show that the triangles are similar.
Q.24
Construct a triangle similar to a given ∆ABC in which AB = 4 cm, BC = 6 cm and angle ABC = 60o. such that each of the side is 4/3 of the given triangle. 

Q.25
In figure, ABC is a right triangle right angle at A, AB = 6 cm and AC = 8 cm. Find the area of the shaded region.
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SECTION – D
Q.26
 If sinα and cosα are the roots of the equation ax2 + bx + c = 0, then prove that a2 + 2ac = b2.





OR

If the ratio of the roots of the equation lx2 + nx + n = 0 is p:q, prove that 
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Q.27
As observed from the top of the light house, 100m high above sea level  the angle of depression of a ship sailing directly towards it changes from 300 to 600. Determine the distance traveled by the ship during the period of observation



      

OR

From the top of a light house the angles of depression of two ships on the opposite sides of its are to be α and β. If the height of light house be h metres and the line joining the ships passes through the foot of the light house show that the distance between the ships is 
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Q.28
Prove that the  length of tangents drawn from an external point are of equal.


By using the above theorem, in figure, find AD when all the four sides of a quadrilateral ABCD touch the circle. The length of the sides AB, BC and CD are respectively 6 cm, 7 cm and 4 cm.  
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Q.29
Water flows out through a circular pipe, whose internal diameter is 2 cm, at the rate of .7 m per sec. into a cylindrical tank, the radius of whose base is 40 cm. By how much will the level of water rise in half an hour.
Q.30
The mean is 45. 5 find missing term if  total of  frequencies is 50  and f1 : f2 = 2 : 3 

	25-30
	30-35
	35-40
	40-45
	45-50
	50-55
	55-60

	   f1
	f2
	5
	f3
	21
	10
	2


Paper Submitted By: 
Name: Mr Deepak Dutta
Email: dd_duttamath@yahoo.co.in 
Phone No:  09816055445 
-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image12.png]_1329129633.unknown

_1329129635.unknown

_1329129636.unknown

_1329129637.unknown

_1329129634.unknown

_1329129631.unknown

_1329129632.unknown

_1329129630.unknown

